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4] SEE(EE) {EABEERE | TERBE-FE X | 6B | FE3Bk- e | PR | damst | 2|
EELR | AP E AR RV 1086 410 238 484 385 61573 | 1
AR | REEREE R/ NE 1032 438 257 511 250 53494 | 2
EER | KPECERER/NE 957 334 200 379 295 49491 | 3
EER | ARFEIEARE RN 991 385 223 392 123 40021 | 4
EER | R EEHHOLER/ VR 852 260 203 359 150 36832 | 5
R | REEHERR/ N 840 344 206 369 48 31647 | 6
LR | AP N RN 852 307 163 354 61 300.66
EER | KFERERR/NE 815 257 145 208 76 266.20
SR | RPEREER/NE 728 252 105 180 98 252.99
SR | KPR ER RN 647 245 96 203 99 245.57
SRR | RFEE R/ NE 676 175 91 131 36 176.62
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